PIRANHA OFFROAD PRODUCTS

‘Piranha Off Road products are not associated in any way with SUZUKI Australia Pty Ltd or any of its related companies’

To Suit SUZUKI JIMNY
4 CYL 1.3L EFI

MAX BA

N NOT SUITABLE
N\ FORSELFFIT

TRAY LOCATION

PARTS INCLUDED WITH TRAY

1 XTray

1 X M8 Bolt Short

2 X M8 Bolts Long

2 X M8 Nuts

2 X M8 Washers

2 X M6 Bolts Countersunk
2 X M6 Nuts

1 X M6 Long

2 X J Bolts

1 X Standard Top Mount
1 X Top Mount Brace

1 X M6 Nyloc

|

RECOMMENDED ISOLATOR

DBE140SF
or
DBE180-SX

have adequate clearance

FITTING INSTRUCTIONS

The cradle fits passengers side rear

1. Remove washer hose from clips and remove the plastic cup from side of
engine bay

2. Remove 6mm bolt from air/con hose support and inner guard

3. Position washer hose along side wiring loom and under brake line

4. Place tray into position making sure inside rear support is positioned under
air/con hose support. Use longer 6mm bolt and 8mm x 15mm long bolt supplied
and bolt into position using factory captive nuts.

5. Now mark and drill outside holes with 8mm drill (may find easier to remove tray
after marking holes then drilling)

6. Bolt tray in with supplied bolts, nuts and washers. Make sure 6mm countersunk
screw is used for hole in trat (under battery).

Fit battery into place

7. Sit top. mount in position and mark and drill 6mm hole in lip of fire wall and use
6mm countersunk screw to hold brace to the bottom of the lip on firewall.

Rear J bolt may need to be shortened to clear wiper motor

Ensure, Before closing the bonnet that all items fitted

Nov 2017

FITTING INSTRUCTIONS

© Automotive Ignition Systems Pty Ltd 2017 BTSJO



